SCENIC ROLLER

79N LA

249



SCENIC ROLLER

Diagram  Da-Lite Quantity List Price
No. Part No. Description Required Each

1 44766 Mounting screws for 3" diam. roller 4 $0.38

83502 Mounting screws for 5" diam. roller 6 0.32

2 45015 End cap for 3" diam. roller 2 8.80

46951 End cap for 5" diam. roller 2 15.00

3 45028 Bottom roller for 13" 6" x 18" and smaller, and 15' x 20' screens 1 200.00

46327 Bottom roller for 18' x 18" screens 1 292.00

46328 Bottom roller for 20' x 20" screens 1 318.00

46331 Bottom roller for 24" screens 1 376.00

46330 Bottom roller for 28" screens 1 432.00

46329 Bottom roller for 30" screens 1 462.00

4 76608 Fabric, Matte White 10' 6" x 14" 1 1,324.00

76610 Fabric, Matte White 14' x 14" 1 1,710.00

76612 Fabric, Matte White 6' x 16" 1 606.00

76614 Fabric, Matte White 12' x 16" 1 1,610.00

76616 Fabric, Matte White 16' x 16" 1 2,138.00

76618 Fabric, Matte White 7' x 18" 1 748.00

76620 Fabric, Matte White 13' 6" x 18" 1 2,180.00

76622 Fabric, Matte White 18' x 18" 1 2,824.00

76626 Fabric, Matte White 15' x 20" 1 2,764.00

76628 Fabric, Matte White 20' x 20" 1 3,454.00

46220 Fabric, Matte White 18' x 24" 1 3,792.00

46221 Fabric, Matte White 24' x 24' 1 2,812.00

46224 Fabric, Matte White 21' x 28" 1 2,922.00

46225 Fabric, Matte White 28' x 28" 1 3,944.00

46228 Fabric, Matte White 22' 6" x 30' 1 3,142.00

46229 Fabric, Matte White 30' x 30" 1 4,388.00

5 57364 Rope (figure at 2 x the height + the width +10' + any extra needed) per foot 0.64

6 46398 Rubber grommet 2 0.94

1 44996 Cable clamp for rope 1 3.80

8 45021PL  Chain link 2 2.40

9 44997 Turnbuckle, #15 hook and eye for 13'6" x 18" and smaller and 15' x 20' screens 1 7.80

44997 Turnbuckle, #15 hook and eye for 18' x 18" and 20' x 20' through 22'6" x 30' screens 3 7.80

44997 Turnbuckle, #15 hook and eye for 30" x 30" screens 5 7.80

10 44753 Hex lock nut, 5/16 - 18 for 13'6" x 18" and smaller and 15' x 20' screens 9 0.28

44753 Hex lock nut, 5/16 - 18 for 18' x 18" and 20" x 20' through 22'6" x 30' screens 15 0.28

44753 Hex lock nut, 5/16 - 18 for 30" x 30" screens 21 0.28

11 44821 Screw, cap 5/16 - 18 x 1 3/4" for 13'6" x 18" and smaller and 15' x 20" screens 9 0.58

443821 Screw, cap 5/16 - 18 x 1 3/4" for 18" x 18" and 20' x 20' through 22'6" x 30" screens 15 0.58

44821 Screw, cap 5/16 - 18 x 1 3/4" for 30" x 30' screens 21 0.58

12 45011 Top tube clamp for 13'6" x 18" and smaller and 15' x 20" screens 6 26.00

45011 Top tube clamp for 18' x 18" and 20' x 20' through 22'6" x 30" screens 10 26.00

45011 Top tube clamp for 30' x 30" screens 14 26.00

13 57640 Top tube assy. for 14' screens 1 236.00

57641 Top tube assy. for 16" screens 1 244.00

57642 Top tube assy. for 18' screens 1 248.00

57643 Top tube assy. for 20" screens 1 254.00

57646 Top tube assy. for 24' screens 1 264.00

57645 Top tube assy. for 28" screens 1 278.00

57644 Top tube assy. for 30" screens 1 294.00

250



